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Q.l).A. Choose the correct option for the following questions given below (Do not copy
the qurestion); (10m)

'tr. What is 50% of 200?
(a) 50 (b) 100 (c) 150 {d) 200

2 .Eight-thousandths is written as
(a) 8000 (b) 0 008 (c) 0 08 (d) 0 8

3.The L.C.M of 4 and 6 is
(a) 1i2 (b) 18 (c) 10 (d) 22

4. An angte that measures more than 900 but less thetn 1800 is called alan
angle.

(a) Stu'aight (b) Obtuse (c) Reflex (d) Acute

5. Which of tl're following is an improper fraction?

(,) ; (b) T (.) * (d) ;
6. The sum of the lengths of the sides of any figure is ,called

(a) Surface (b) Perimeter (c) Volume (d) Area

7. The fraction equivalent to S
2

I
t6(a) -.,18 (") 

r?
5 32

40)(b)
35

8" What percent is 30 of 200 ?
(a) 15% (fi ZaYa @) 1a%

9. The H.F.C of 20 and 30 is
(a) 30 (10) 10 (c) 5 (d) 20

d(

{d) 2s%

P.T.O

il'iote

ii. Do n
iii.

$ection A



,{}.ln the adjoinirg figure, point lvl is called as

(a) Ray (b) Line (c) Vertex (d) Arms

;.*)"8. State whrether the following statemenbare true or false.lf false correct
the underline word. (5m)

. The improper fraction of Zl is
3

. lf the measures of hruo angles

oo

are eq
3_

ual , they are lailed Conqruent anqles.

1

4

J 5.03 and i).4 are like decimal fractions
4. The perimeter of a triangle with sides of 5cm 6crn and 7cm is 12cm.
5. The L.C.M of 12 and 15 is 30 .

',1'"1}.C. Complete the following table. (5m)

Sr. no Fractions Decimals Percentage
1 05

2
2
;
5

03 30%

'4.fi1). (20m)

, Clonvert each of the follor,r,ing fractions into percent.

i)
5

4

25
u)' 10

2. Write the expanded form of
i) 858.067 ii) s2A.54

*. Draw an angyle whose measure is 1550
.-3 rZa. Subtract 2- - 1-43

11" Find the L.C IVI of 36 and 48
ti.Find the perirneter of the figure given below:

3cnr

3cm

3crn

P.T.O

a:s:B

3



/

I

7 Mulitiply 2?x?33
I x
4

15 30I Simplify :

2A 4
9. Find the perimeter of square whose each side is 23m
10. Convefi 0,0643 into percentage.

Section B

o.lll)
1, ldenl.ify the type. of anglesgiven below:

i) ii) iii)

)( v
N 5

2.Divide 1453.2 + 12 (write the quotient and rennainder). (3m)

3,Find the L"C.NI OF 175 ,165 and 350 (4m)

0.lv).
1. Fiind the perimeter of the rectangle whose length is 30cm and breadth is25cm. (3m)

t
2. Find al: a/o of 2400k9 (3m)

2

(4m)

a.v).
l.Evaluate : 14.98 - 8.256 + 15.29

2" Find thr: H.C.F OF 144 ,180 and 192

3.Suman bought some apples. Out of this , ,lfnerpples were used for making

juic,e anO Z| kg apples were left. Find the total weight of apples she bought?,

1

3. Simplify : 2: x
2

^2t'
5

21-x
3

7
3-

5

(3m)

(3m)

P.T.O

(4m)

I

(3m)



,i.\itl).
1. From the :rdjoining figures answer the

i).Write the; names of the angles
ii).Write th13 rxessure of the angles.
iii)" Are ther angles congruent to each

other ? (state the reason )

following questions
P

(3m)

(sm)

(4m)

a
F L)

2.F
i)

ind the perimeter ofth
*E

e given figure.
ii) 

* enr

I

Z.cm

!em

2cm
5 cnr

:am Ii

4cm
9cm

cm

3 Multiply : 34.56 x .135

rHE BEST


